Fri 9th July 2021
WALT: Conduct a fair test

Vocahulary: Prior learning;

solute What does it mean to be a scientist?

dissolve What is a solution?



I am a scientist...
I want to explain the world around me.

How?
What?

Why?

I make a prediction.
I inwvestigate then use what I find out to explain.
I change my mind after finding things out.






We are going to caurry
out an uwestigation to
discover whether
different materials are
soluhle or insoluble in

Share yowr hypothesis
in the chat - do you
agree or disagree?
Why?
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As scientists, we need to enswre that every test or
inwestigation we carry out is fair...

What will we change each time?
This needs to be one thing only, everything else needs to
stay the same each time.




The aum af the inwvestigation is to determine whether all materials are soluble.

To ensuwre the test is fair; there are a number af controlled variables. The

amount of water the material is stured into is always _ _ __ ml. The amount
af material is always ______ _ . The numher of times the material is stured
into the water will abways be ____ ___

The dependent we are measuring is whether the material will dissolve in the
wuter or not.



We will mix each material
with water

If the material does dissolve,
the water will be transparent
It may have changed colour
but will be see through. You
will not see the particles of

solid any more. /

|

If the material does not
dissolve, you will still see
the particles oj the solid

in the water.

Conclusion




Title of experiment:

Purpose/Introduction:

Hypothesis

Method

Results




Rice gruins have huge and fihrous carbohydrates called starch. That stauch is
insoluble in wuater. You can hreak down the starch, make it simpler which will

make it soluble.

Flour is not soluble in wuater as it is mostly made of starch, which has a tightly
lipids, hoth of which are insoluble in wuter.

When salt is mixed with wuter, the salt dissolves hecause the covalent honds of
together:

The hond hetween the oxygen and hydrogen atoms (O-H hond) in sugar (sucrose)
gives the oxygen a slight negative charge and the hydrogen a slight positive charge.
... The polar water molecules attruct the negative and positive areas on the polar
sucrose molecules which makes sucrose dissolve in wuater

Coffee will only fully dissolve in water if youw are using instant coffee granules. If
youw are using ground coffee heans then the coffee will not fully dissolve, only 30%
will dissolve and the other 70% will remain intact. ... Coffee falls into the category

of part soluble.



I am a scientist...
I want to explain the world around me.

How?
What?

Why?

I make a prediction.
I inwvestigate then use what I find out to explain.
I change my mind after finding things out.



